

abu. 4

$$f^3(x) + f(x) = x \quad (1)$$

$$(1) \xrightarrow{x=0} f^3(0) + f(0) = 0 \Leftrightarrow$$

$$f(0) \cdot (f^2(0) + 1) = 0 \Leftrightarrow$$

$$f(0) = 0 \quad \text{in} \quad f^2(0) = -1 \quad \text{d\u00f6w.}$$

$$\lim_{x \rightarrow 0} f(x) = f(0)$$

d) N.S.O.  $f: \mathbb{R} \rightarrow \mathbb{R}$   $x_0 = 0$

e)  $f: \mathbb{R} \rightarrow \mathbb{R}$

$$(1) \Rightarrow f(x) \cdot (f^2(x) + 1) = x$$

$$f^2(x) + 1 > 0 \Rightarrow \neq 0$$

$$\rightarrow f(x) = \frac{x}{f^2(x) + 1} \Rightarrow |f(x)| = \frac{|x|}{f^2(x) + 1} \leq \frac{|x|}{1}$$

Apa  $|f(x)| \leq |x| \Leftrightarrow -|x| \leq f(x) \leq |x|$

$\lim_{x \rightarrow 0} |x| = 0$

Ano k.n.  $\rightarrow \lim_{x \rightarrow 0} f(x) = 0 = f(0)$

e)  $\{ \text{Gw } x_0 \in \mathbb{R} \text{ w.r.t. d.o. } \lim_{x \rightarrow x_0} f(x) = f(x_0) \}$

$$\lim_{x \rightarrow 0} |x| = 0$$

apd  $f: \mathbb{R} \rightarrow \mathbb{R}$   $x_0 = 0$

$$\begin{aligned} f^3(x) + f(x) &= x \\ f^3(x_0) + f(x_0) &= x_0 \end{aligned} \quad \xrightarrow{x=x_0}$$

$$\begin{aligned} f^3(x) - f^3(x_0) + f(x) - f(x_0) &= x - x_0 \Leftrightarrow \\ (f(x) - f(x_0)) \cdot (f^2(x) + f(x) \cdot f(x_0) + f^2(x_0)) + (f(x) - f(x_0)) &= x - x_0 \Leftrightarrow \\ (f(x) - f(x_0)) \cdot (f^2(x) + f(x) \cdot f(x_0) + f^2(x_0) + 1) &= x - x_0 \Leftrightarrow \end{aligned}$$

$$\begin{aligned} a^2 + ab + b^2 &\geq 0 \Leftrightarrow \\ 2a^2 + 2ab + 2b^2 &\geq 0 \Leftrightarrow \\ a^2 + a^2 + 2ab + b^2 + b^2 &\geq 0 \Leftrightarrow \\ a^2 + (a+b)^2 + b^2 &\geq 0 \rightarrow A(x) > 0 \end{aligned}$$

$$f(x) - f(x_0) = \frac{x - x_0}{A(x)} \Rightarrow |f(x) - f(x_0)| = \frac{|x - x_0|}{A(x)} \leq \frac{|x - x_0|}{1}$$

$$-|x - x_0| \leq f(x) - f(x_0) \leq |x - x_0| \Leftrightarrow -|x - x_0| + f(x_0) \leq f(x) \leq |x - x_0| + f(x_0)$$

αβγ.4  $f^3(x) + f(x) = x \quad (1)$

- a) N.D.O.  $f: \mathbb{R} \rightarrow \mathbb{R}$  s.t.  $x_0 = 0$
- b)  $f: \mathbb{R} \rightarrow \mathbb{R}$

$f(x) \cdot (f^2(x) + 1) = x \rightarrow$

$f(x) = \frac{x}{f^2(x) + 1} < \frac{x}{1} = x$



Βήμα 1

γ) N.D.O.  $\lim_{x \rightarrow +\infty} f(x) = +\infty$

θ.δ.ο.  $f \uparrow$ . Έστω  $A(x) = x^3 + x$ . δ.ο.  $A(x) \uparrow$

(1)  $\Rightarrow A(f(x)) = x \quad \forall x \in \mathbb{R}$

Έστω  $x_1, x_2 \in \mathbb{R}$  με  $x_1 < x_2 \stackrel{(1)}{\Rightarrow} A(f(x_1)) < A(f(x_2)) \xrightarrow{A \uparrow} f(x_1) < f(x_2)$   
 Άρα  $f \uparrow$  στο  $\mathbb{R}$

Βήμα 2  $\exists x_0 \in \mathbb{R} : f(x_0) = 1$

(1)  $\stackrel{x=2}{\Rightarrow} f^3(2) + f(2) = 2$   
 $A(1) = 2$

$\Rightarrow A(f(2)) = A(1) \Leftrightarrow$   
 $f(2) = 1$

Βήμα 3

Αρα  $f \uparrow \Rightarrow \forall x > 2 \rightarrow f(x) > f(2) = 1$

Θεωρώντας  $x > 2 \rightarrow f(x) > 1 \Rightarrow f^3(x) > f(x)$

$f^3(x) + f(x) > 2f(x)$   
 $x > 2f(x)$   
 $\frac{x}{2} > f(x)$

ή  $\rightarrow 2f^3(x) > f^3(x) + f(x)$   
 $2f^3(x) > x$   
 $f^3(x) > \frac{x}{2} \Rightarrow f(x) > \sqrt[3]{\frac{x}{2}}$

$\lim_{x \rightarrow +\infty} \sqrt[3]{\frac{x}{2}} = +\infty \Rightarrow \lim_{x \rightarrow +\infty} f(x) = +\infty$

αβγ.5  $f$  περιττή  $\forall x \in \mathbb{R}$   $\forall x_0 = 1$

$$f(-x) = -f(x)$$

$$(i) \lim_{x \rightarrow 1} \frac{f(x) - 5}{x - 1} = 10 \quad (1)$$

Θέτουμε  $A(x) = \frac{f(x) - 5}{x - 1} \Rightarrow f(x) = (x - 1) \cdot A(x) + 5 \Rightarrow \lim_{x \rightarrow 1} f(x) = 5 \Rightarrow f(1) = 5$

$f$   $\forall x \in \mathbb{R}$   $\forall x_0 = 1$

$$(ii) (1) \Rightarrow \lim_{x \rightarrow 1} \frac{-f(-x) - 5}{x - 1} = 10 \quad (\Rightarrow) \quad \lim_{x \rightarrow 1} \frac{f(-x) + 5}{-x + 1} = 10 \quad \Leftrightarrow \quad \lim_{u \rightarrow -1} \frac{f(u) + 5}{u + 1} = 10$$

Θέτουμε  $u = -x$ . Όταν  $x \rightarrow 1 \Rightarrow u \rightarrow -1$

οπότε, έχουμε ότι  $\lim_{u \rightarrow -1} f(u) = -5$   $\Rightarrow f$   $\forall x \in \mathbb{R}$   $\forall x_0 = -1$

Άρα  $f$  περιττή  $\Rightarrow f(-1) = -f(1) = -5$

$$(iii) \lim_{x \rightarrow -1} \frac{f(x) + 5}{x + 1} \quad \left| \quad \lim_{x \rightarrow -1} f(x) = \lim_{u \rightarrow 1} f(-u) = - \lim_{u \rightarrow 1} f(u) = -5 \right.$$

$x = -u$

$f$  συνεχής στο  $x_0$ ,  $f(x_0) > 0$  τότε  $f(x) > 0$  κοντά στο  $x_0$  (Σ)

Αντί  $f$  συνεχής στο  $x_0 \Rightarrow \lim_{x \rightarrow x_0} f(x) = f(x_0) > 0$ . Άρα  $f(x) > 0$  κοντά στο  $x_0$

(4)  $f$  συνεχής στο  $x_0$  | (Σ) με αναγωγή σε άνω.  
 $g$  συνεχής στο  $x_0$  | Έστω  $f+g$  συνεχής στο  $x_0$

$g = \underbrace{(f+g)} - \underbrace{f} \Rightarrow g$  συνεχής σαν διαφορά συνεχών. Άνω.

Ορισμός:  $f$  συνεχής στο  $(a, b)$   $\Leftrightarrow f$  συνεχής σε κάθε  $x_0 \in (a, b)$ .

$f$  συνεχής στο  $[a, b]$   $\Leftrightarrow$   $f$  συνεχής στο  $(a, b)$   
 $\lim_{x \rightarrow a^+} f(x) = f(a)$ ,  $\lim_{x \rightarrow b^-} f(x) = f(b)$ .

Επ.  $\exists$  συνάρτηση  $f: \mathbb{R} \rightarrow \mathbb{R}$  συνεχής στο  $[a, b]$  που αβνβεχάς στο  $x_0 = a$

ΝΑ)

